2A:

Hu OJEHD FHBS(ASIZT/INE - 014)
Rl dFEFREPIE 15 2 odssEHe X2 CEREED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SPEPNERTES 100,048, 172 %228 111 7,820,061
. 27,541,348
2 2,862,325
5] 41,011,812
< 28,632,687
GAEMI SHHS(NE=N/IIE - 018) 10,761,416 10,049,938 711,478
& 14,815
5] 5,754,260
< 4,902,341
SEsse 78 2 (AsSNE Nd 1,719,265 1,567,437 151,628
CEEEEST 29,000 29,000 0
201 er2 e 22,000 22,000 0
R 22,000 22,000 0
CIVPEEETEY 22,000
202 01t 3,000 3.000
NETET 3.000 3,000
ooEEM B xm 3,000
208 G2 E A 4,000 4,000
CREESEEES] 4,000 4,000
OMAHAE AR =X 4,000
sR0areE 29 1,191,905 1,063,445 138,460
306 2012 1,191,905 1,063,445 138,460
NEEE 1,197,905 1,063,445 138,460
CESNWPPCEEE 1,191,905
NBZIDI - NE 28 =& 498,360 484,992 13.368
307 P10/ A 279,960 284,880 ~4,920
1T ABIS XM X 279,90 284,880 ~4,920
OSES ABIZTIAIE SAK 2T+ 114,360
OEEHS ABZTIIB SAK HRWEHE 165,600
308 XA A S0/ 218,400 200,112 18,288
01 X SHZAEES 218,400 200,112 18,288
OAIZ MBIZTIAS SAX 2T+ 187,080
OAIZ ABIZXIIZ SAR HRHEAE 31,320
OIEo] NBIEO B % @ M 183,957 160, 100 23,857
GESAOIZHS =& 54,600 67.100 A12,500
201 2Er= | 16.100 16.100 0
01 Al 2] 2.100 2.100 0
OUAIRIEA AN 2 2,100
0B A2 | 14,000 14,000 0
OUAIIEHAL A& 14,000
202 it 2.500 2.50
01 =LHoul 2.500 2.50
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B HARAEII=ED

(Sh=fnauiiig ey

B D SHWS(ASISX/IIS - 0f4)
04 o dot

Rl olde AlRlEO 20 R 2 dY (S H2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
oodanelEis gs = 2,500
308 AXIMSOIA 36,000 46,000 10,000
01 XN B2 LS 36,000 46,000 10,000
OZANY FARlE & Jd A2 S3t 36,000
2dEES JISHA 32,000 3,000 29,000
201 etz 3| 2,000 3,000 1,000
01 AtR2t2|HI 2,000 3,000 A1,000
ORYL22 YAGKHY U YASHIE
gsEsty 2,000
307 glztol & 30,000 0 30,000
11 AMEISXAIEEES 30,000 0 30,000
OZESENXE O 822 Ed2ANE 30,000
HEARE0 K& 47,357 40,000 7,357
307 el2to| & 47,357 40,000 7,357
03 2RI HEE2SHIE X 47,357 40,000 7,357
OZASENXNEUHLHHME e 28 XNH 47,357
e AtelE0 2dst 50,000 50,000 0
308 AtAIEHMSOIE 50,000 40,000 10,000
01 AXEH B EES 50,000 40,000 10,000
od=gt clotel= g 40,000
O&= el M JHE 10,000
Hgeld2s & o 8,858,194 8,322,401 535,793
= 44,815
J| 5,754,260
= 3,069,119
=2y 218UsS 3,880 4,930 A1,050
201 er23| 2,980 3,430 A450
01 At2tltl 800 1,000 A200
OUYAASIAIL SAUSE 2 800
03 A= I 2,180 2,430 A250
ONEHASTAIE SAHtUE 28 2,180
202 04| 900 1,500 2600
01 ZLHAH| 900 1,500 2600
ONHgHANSTAIY F& 900
HEHASEAE 2E X 278,865 285,237 26,372
308 XXM SOIA 248,865 285,237 A36,372
01 XN B2 LS 248,865 285,237 N36,372
ONgdASTAIE 2g XNIH 163,564
OJIE=E=ZNeHt NAAE 28 FIHAE 85,301
403 MR EHSAE01H 30,000 0 30,000
01 MHAIHHA 22X 30,000 0 30,000
ONWEHASTAL JIsEH 30,000
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HEHS(AEISX/OIE - oY)
al b

e (ol @2
SA - B - SRI(BH) - MRAR - B A HIDEZ
HAUASIAE 2g X (HF) 138,445 129,301 9,144
307 elztol & 138,445 129,301 9,144
10 Al SXAIEEHE 22X 134,445 129,301 5,144
ONdHASIAIE 28 XNI&H 134,445
1 AMEISXAEEXS 4,000 0 4,000
OFZHUIoHA =HAE 24 4,000
Oe=2TloH 2010t 2A=sXJ(2E) 13,000 14,400 1,400
307 21201 & 13,000 14,400 1,400
1 ARRISXAIEE X 13,000 14,400 A1,400
O dg==Tlal AAJIIHE 2AsAE 13,000
HERIZda 1366HE 2 (20)(HE 800,222 747,678 52,544
Jl 400,111
== 400,111
307 elzto| & 800,222 747,678 52,544
Jl 400,111
< 400,111
11 AMEISXAIEEXS 800,222 747,678 52,544
ONd2l=d3t 13664 =24 800,222
Jl 400,111
= 400,111
H1ZH3E 13664HIE JIsEZ(20)(HE 24,654 21,400 3,254
J 12,327
=S 12,327
402 QI+ X201 & 24,654 21,400 3,254
Il 12,327
== 12,327
02 QI X2 AL E R (01X THE) 24,654 21,400 3,254
O0d2=d3st 1366HH JIsE22 24,654
) 12,327
=S 12,327
= d4gA 28(=21) ,247,644 1,137,130 110,514
7l 831,764
= 415,880
308 XXM SOIA ,247,644 1,137,130 110,514
7 831,764
=S 415,880
01 XN BSELES ,247,644 1,137,130 110,514
Otg =" od4 29 ,247,644
Jl 831,764
& 415,880
HEH TcHA ESAE 22(=21) , 196,261 1,099,651 56,610
Jl 952,216
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2A:

mo: QEEMY AEBS(ASIEL/IS - 04)
Belr HdedEs 2 oY (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 204,045
308 XX/ EHHISOI R 1,156,261 1,099,651 56,610
| %2,216
= 204,045
Of IXESHBA2ES 1,156,261 1,009,651 56,610
ONFES NN BEAE 2 1,019,631
| 839,69
= 179,935
ONFES WEHK BEAIE 122 A 62,414
| 51,399
= 1,015
OF= DK Nzt 6.216
| 5,121
= 1,00
=S WK NHES 68,000
| 56,000
= 12,000
IIEES DGR 25AIE JIs22(=1) 31,792 55,732 23,940
] 21,1%
= 10,507
403 XHXI A S KHE0IE 31,792 55,732 £.23,940
| 21,1%
= 10,597
01 KIXIEHH =2 31,792 55,732 723,940
ONFEL MoiN BSAE JIs2Y 31,792
| 21,1%
= 10,597
=Z2TI5H014 =T 22(22) 44,954 37,733 7,221
| 3,918
= 8,03
307 BI2¢0IH 4,550 0 4,550
] 3,185
= 1,365
11 ABI =TI A B E 4,550 0 4,550
O=AMBHOE FHAR 2Y(HE) 4,550
| 3,185
= 1,365
308 XXIEHH SOI X 37,804 36,176 1,628
| 31,133
= 6,671
O KX SHBAEES 37,804 36,176 1.628
OZAHS FIHAY 2 57,804
| 31,133
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A HEZAEIIEW
A MU AHHS(AESKX/IE - 04)
> 2 ¢

= Oﬂl’é@&éioi' one (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 6,671
403 AXIEHMSAH=201d 2,600 1,557 1,043
Jl 2,600
01 A= 2L 2,600 1,557 1,043
o= =AHXH LdUEES 2,600
) 2,600
I E™ TlohAt XISslS T2 2 2/2H((2 1) 160,324 92,545 67,779
Jl 132,032
S 28,292
308 AXIMSOIA 160,324 92,545 67,779
) 132,032
S 28,292
01 HASHHBSEXS 160,324 92,545 67,779
OJIE=3 Uik Azels T2 03 123,774
Jl 101,932
= 21,842
OJIEZEY TahA 2= 36,550
J| 30,100
= 6,450
Z2TIoH 0IF0Y dEA 2(=1) 267,999 255,300 12,699
) 178,666
== 89,333
308 XM SOIE 267,999 255,300 12,699
Il 178,666
= 89,333
01 XN EES 267,99 255,300 12,699
O==ldl 0IF0d &84 2¢ 267,99
7l 178,666
= 89,333
ZdTIoi 0l ESAlE 2(=1) 246,185 238,578 7,607
Jl 202,741
& 43,444
308 AXIHSOIA 246,185 238,578 7,607
) 202,741
= 43,444
01 HAHHBSEXS 246,185 238,578 7,607
O=Hllol 01F0d ESAld 289 237,685
Jl 195,741
= 41,944
O==gllol 0lIF0d E3AlE E4K e
&= 8,500
Jl 7,000
[ 1,500
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2A:
PSR
ool

SA - ZE - B2A(S1H) - HRAES of v e HIDE2
=206 01014 BSAld DIsE2(=21) 6,909 1,778 5,131
Jl 5,690
== 1,219
403 AXIEHMSAH=0ld 6,909 1,778 5,131
Jl 5,690
< 1,219
01 AR A= E X 6,909 1,778 5,131
OZFHUloh 01F0d ESAE JIsEH 6,909
Jl 5,690
= 1,219
SHHtetdIdEe 23 (20)(2E) 2,508,900 2,450,741 58,159
Il 1,756,200
=S 752,700
307 elztol & 2,508,900 2,450,741 58,159
Jl 1,756,200
< 752,700
11 MEISXAEE 2,508,900 2,450,741 58,159
OdlidtetI|dH 29 2,508,900
) 1,756,200
S 752,700
YL dEAY - SSHIS - RUHHIE(=212)(H 165,970 172,205 26,235
5)
7l 116,180
=S 49,790
307 lztol & 165,970 172,205 26,235
Jl 116,180
== 49,790
11 AMEISXAIEEXS 165,970 172,205 6,235
Od=gUloiA g2 - =3HIS - FU
BlE 165,970
Il 116,180
= 49,790
HE3 M4g4 23(21) 337,244 319,549 17,695
7l 224,829
= 112,415
308 XXM SO0IH 337,244 319,549 17,695
Jl 224,829
== 112,415
01 XN BSELES 337,244 319,549 17,695
Odg=8 dEL 29 337,244
Jl 224,829
< 112,415
il 45 g4 249(=21) 146,819 139,447 7,372
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A HEZAEIIEW
A MU AHHS(AESKX/IE - 04)
> 2 ¢

= Oﬂl’é@&éioi' one (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2

Il 97,879
=S 48,940

308 XXM SOIA 146,819 139,447 7,372
Jl 97,879
== 48,940

01 XN BSELES 146,819 139,447 7,372
O =4 o584 28 146,819
) 97,879
< 48,940

HEZ OGN ESAIE 29(=212) 193,850 179,306 14,544
Jl 160,371
= 33,479

308 XtXIEMSO0IH 193,850 179,306 14,544
Jl 160,371
=S 33,479

01 XN BSELES 193,850 179,306 14,544
Od=4 Uik ESAlE =29 180,786
Jl 148,882
< 31,904
O&=3 Lokt ESAIE Hi==X & 13,064
Jl 11,489
= 1,575

SE MG ESAIE JIsE2(21) 1,125 5,190 A4,065
7l 750
=S 375

403 MR SHHMSAH=01H 1,125 5,190 24,065
Jl 750
< 375

01 AXISHA 22 % 1,125 5,190 4,065
Od=4 Llolkt ESAME JIsEZ 1,125
) 750
= 375

AZ 6L X2 - ISZ20-8(=31) 5,707 5,707 0
7l 4,700
= 1,007

308 XXM SOIA 5,707 5,707 0
Il 4,700
s 1,007

01 XN B2 LS 5,707 5,707 0
Od=4H Lokt XI= - 2S22 03 5,707
Jl 4,700
[ 1,007

AE TGHA Q=] - 2hEHI(= 1) 53,267 53,266 1
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2A:
PSR
ool

O AHBES(ASISXI/IME - 04)
> 2 t

SA - ZE . BRA(8) - HRAR - BES of v e HIDE2

7l 43,867
=S 9,400

308 XX HMSO0IA 53,267 53,266 1
Jl 43,867
== 9,400

01 XN BSELS 53,267 53,266 1
Od=4 Uloll At 2l=H| - 2t 53,267
) 43,867
& 9,400

SOHOHTIGHAH RIRAIE & AEA 2E(210) 366,492 349,805 16,687
Jl 278,308
= 88,184

308 XXM SOIA 366,492 349,805 16,687
7 278,308
=S 88,184

01 XN BSELES 366,492 349,805 16,687
OHOHOWBH At NIHAIE 2 216,623
Jl 178,396
< 38,227
OXOHOHIIOH A+ & A 29 149,869
Il 99,912
= 49,957

SOHOHIIGH A REXIR(=1) 60,279 40,716 19,563
Jl 49,641
=S 10,638

308 XHXIEMSOIE 60,279 40,716 19,563
Jl 49,641
< 10,638

01 XN BSELES 60,279 40,716 19,563
O OHOHIIOH At 22X & 60,279
) 49,641
== 10,638

SONDHIIGH At XIRAIE JIsEZ(21) 3,120 9,046 N5,926
7l 2,080
= 1,040

403 X SHMSAH=01H 3,120 9,046 N5,926
J| 2,080
s 1,040

01 A= 2L 3,120 9,046 N5,926
O-ONOHLIGH A NIEAIE JISEH 3,120
Jl 2,080
< 1,040

A=H TlGHots - AW X|ME 2H(=2)(2E) 130,706 127,882 2,824
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2A:

3 @’égﬂﬂj LHES(ARISX/OH - 014)
=Hel odelEs & ool (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
7l 65,353
=S 65,353
307 elztol & 130,706 127,882 2,824
Jl 65,353
== 65,353
11 MEISXAIEEXS 130,706 127,882 2,824
OdZH Ulolols - Fad X3dH 28 130,706
) 65,353
< 65,353
ol EHAL RS 2 (=10)(HE) 89,630 88,688 942
= 44,815
= 44,815
307 212+01& 89,630 88,688 942
= 44,815
=S 44,815
11 AMEISXAEEES 89,630 88,688 942
O0PI= ZH0gus 29 89,630
= 44,815
< 44,815
g oAy 2482 Sg ogus 8,500 8,500 0
201 ger= 3| 8,500 8,500
01 At 2t 8,500 8,500
od 2XH 282 S L= 8,500
CISOIEAIE SHEY H2gEs 18,300 15,000 3,300
308 XXM SOIA 18,300 15,000 3,300
01 AXEHH B2 LS 18,300 15,000 3,300
OAIZIZAIE 2E X2 18,300
I AHIA XIA 4,000 3,000 1,000
201 Ler=23| 4,000 3,000 1,000
01 At2teltl 4,000 3,000 1,000
Ot Pt MHIA X 4,000
A2 HIGHAH A EH] X (M EALY) 10,000 10,000
307 @I2t01 & 10,000 10,000
11 AMISXAIEEX 10,000 10,000
OAEZ ToiA+ S EH| XI&(HE) 10,000
AE2 HIGHA XIgsls Z20(21) 10,000 10,000 0
7 7,000
=S 3,000
307 glztol & 10,000 10,000 0
Jl 7,000
< 3,000
11 AMEISXAEEXS 10,000 10,000 0
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2A:

3 @’égﬂﬂj LHES(ARISX/OH - 014)
el HEQAES & ol EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OAEZ Ikt Xzes T2 1 10,000
Jl 7,000
== 3,000
AE2 ToHAH JU=E =HXE 24 (=1) 51,600 49,360 2,240
Jl 25,800
= 25,800
307 21201 & 51,600 49,360 2,240
7l 25,800
= 25,800
11 AMEISXAEEES 51,600 49,360 2,240
OA&EY LA LU= F=HAE 23| 51,600
7l 25,800
=S 25,800
AEZ T ASFAXE (1) 200,352 125,600 74,752
) 100,176
S 100,176
307 @120l & 200,352 125,600 74,752
Jl 100,176
= 100,176
11 ARRIS XA E X 200,352 125,600 74,752
OAEZ HWolkt 2AsF=HAIE 2] 200,352
7l 100,176
= 100,176
CXEddzl S3te 454 28(20) 71,19 0 71,199
Jl 47,466
< 23,733
308 AXIHSOIA 71,199 0 71,19
) 47,466
= 23,733
01 HASHHBSEXS 71,19 0 71,19
OLINE&Ez S3t8 &84 29 71,199
Il 47,466
= 23,733
Ch2st A28 X (MRISR/IHE - 01d) 62,350,865 59,880,012 2,470,853
= 26,845,599
7 27,576,123
=S 7,929,143
ClEsbts SEAR 7 2,571,572 2,585,281 213,709
Jl 1,949,760
< 621,812
Cre2st & A2t XE UERD =5 6,000 6,000
201 LBzl 2,500 2,500
01 AtR2t2|Hl 2,500 2,500
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A HE8FEaEIIED
M (23 A2NE N (MEI=T/IHE - 014)
ool O2SIE SAIE 2 (SHol: M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OCr2st 2 220 XA UESD 75 &
= 2,500
202 0o4dl 3,500 3,500
01 2L AL 3,500 3,500
OCt23t ¥ ALIHE XY HERD 7= &
= 3,500
FASENT A=el0 & U2etE X3 23 2,340 2,340 0
29
201 2Bt | 2,340 2,340
01 At2teltl 2,340 2,340
o=l & LHEEIEE A 823 2,340
Ch2abts TEolet - 10,000 10,097 YaNerg
308 AXIHSOIA 10,000 10,097 A7
01 HRHHBAEES 10,000 10,097 A7
OZ=012A &2 HEE 10,000
HIAIISl & IS AL 28,090 28,090
307 21201 & 19,990 19,990
11 ARRIS XA E X 19,990 19,990
OAIARISl & IS AL 19,990
308 XtXIEMSO0IH 8,100 8,100
01 AXNBEES 8,100 8,100
OMIAIIS & JIEHA EIH| 8,100
L2l AtelSE X 185,430 180,101 35,329
308 AXIMSOIA 185,430 180,101 36,329
01 XN BSELES 185,430 150,101 35,329
Ot=2=PIEMH e=2us K& 49,430
ott=zst 0I8Xl= =8 ud 36,000
OCHz3t Aral2et A 2eltial 36,000
OCt=3t - A20td XA 9,000
OLr&etE Oloflw= 20,000
Ot=2=hE olsetite 5,000
oltizstyid e 10,000
Od= FF=M 20,000
CH2s Satate(=2) 2,339,712 2,388,653 148,941
Jl 1,949,760
< 389,952
308 AIXIHHISOIA 2,339,712 2,388,653 A48,941
Jl 1,949,760
== 389,952
01 X SHHBAEXS 2,339,712 2,388,653 A48,941
Ot=2=IE YEUFAEZA XA 774,300
Il 645,250
= 129,050
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A HE8FEaEIIED
I 235 2201 X2 (MB2X/I1E - o A)
ol OEebis SgAte 78 EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OZ =012k SHAXNAL N 649,980
Jl 541,650
== 108,330
Ot=2=tE HHEE XA XA 450,792
Il 375,660
= 75,132
OCt=3tE olsgioists N 275,640
Jl 229,700
=S 45,940
OZE0I2IAt kst Xd 189,000
Il 157,500
[ 31,500
CI2IEEX3ME 2 7,104,035 7,585,687 A\481,652
Il 5,647,825
= 1,456,210
LHEEENX T U23IIBXE HEWH 2 126,000 123,790 2,210
307 212+01& 126,000 123,790 2,210
11 AMEISXAEEES 126,000 123,790 2,210
OYHASENXE U22HEXE HEHEH
29 126,000
JIBHE 29 181,205 205,415 A24,210
308 AXIMSOIA 128,205 205,415 ANT7,210
01 MRHHBAEES 128,205 205,415 AT7,210
OUEZatE HR2uUSIZA MM 14,245
OJIEFHH 23 63,960
oZAt=s=AezE 7= N 50,000
403 X HHMSAH=01H 53,000 0 53,000
01 AXISHHA =2 & 53,000 0 53,000
OIIEHH JIs2d 53,000
IHEMH 28(=10)(H8) 48,600 46,600 2,000
) 24,300
S 24,300
307 gl2to| & 48,600 46,600 2,000
Jl 24,300
= 24,300
11 AMRISXAEEES 48,600 46,600 2,000
OYHSENXE U22IHEXE HEHEH
29 48,600
J| 24,300
s 24,300
JIEMH 22 (20) 6,748,230 6,459,882 288,348
) 5,623,525
= 1,124,705
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SA O EAEIISD
A 2% A20HE XJ(MEISX/0HE - 6 E)
el OE2iEXddE =29 EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XXM SOIA 6,748,230 6,459,882 288,348
Jl 5,623,525
== 1,124,705
01 XN BSELES 6,748,230 6,459,882 288,348
OJIEHH =24 6,748,230
) 5,623,525
=S 1,124,705
2201 2t &4 30,449,895 28,005,011 2,444,884
= 26,712,564
) 669,806
< 3,067,525
ZREENXE JIEEs 243t 4,760 4,760 0
201 ger=2 3| 4,760 4,760
01 AtR2te|HI 4,760 4,760
OZESEXXE II=&s 243 X 4,760
OlolsEs Z29die NE2S(20)(2E) 612,834 595,324 17,510
= 306,417
= 306,417
307 glztol & 612,834 595,324 17,510
= 306,417
== 306,417
1 MEISXAIEEXE 612,834 595,324 17,510
Ool0l== ZAdH XNE2d 612,834
= 306,417
< 306,417
OlOIES RIFA(21) 28,589, 188 26,140,819 2,448,369
= 26,332,147
= 2,257,041
308 KtXIEMISO0IE 28,589, 188 26,140,819 2,448,369
= 26,332,147
=S 2,257,041
01 XN B2 LS 28,589,188 26,140,819 2,448,369
OotoI=s XA 28,589, 188
= 26,332,147
< 2,257,041
BSS0tL=sH 2F(=21) 1,068,777 1,061,932 6,845
Il 669,806
= 398,971
308 AFAIEHMSOIE 1,068,777 1,061,932 6,845
Jl 669,806
= 398,971
01 AXEH B2 LS 1,068,777 1,061,932 6.845
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A HEZAEIIEW
T C123 AP KA (MEST/IHES - 0fa)
&t A2 23t &4 EER=E)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
O3SS0tLIsH 29 1,088,777
| 669,806
T 398,971
ZASEENUXE 00120 HRME K& 85,536 79,776 5,760
308 AXISHMSOIA 85,536 79,776 5,760
01 XIXISHHBAE LS 85,536 79,776 5,760
O0t0I=20l W&l X3 85,536
HAEED OlsY=sH| N AFE(=21) 88,800 122,400 33,600
= 74,000
T 14,800
301 LEENZ 88,800 122,400 A33,600
= 74,000
& 14,800
01 A B& X2 (2 RNEETHE) 88,800 122,400 A33,600
OFAEHRR Ots2=FH| K& ALY 88,800
= 74,000
= 14,800
SHREIIE M FA 22,225,363 21,704,033 521,330
= 133,035
| 19,308,732
= 2,783,5%6
HAS RIS MEotE X|I& 301,620 330, 180 A28,560
301 LPBNF 301,620 330,180 228,560
02 AISIBEESHS(HLHS, NYME) 301,620 330,180 A28,560
OMAS SHRIIE MEotd X2 301,620
HAESIER Ols2=s L NSXSASE(21) 97,875 HA,500 3,375
| 87,000
& 10,875
301 LPENS 97,875 A,500 3,375
| 87,000
& 10,875
01 Al B&X2HZ2(2REETA) 97,875 4,500 3,375
OFALESRER OtsY=H| K& At 97,875
| 87,000
= 10,875
SIEQIIE Ols2sd S N (21) 21,510,000 21,135,500 374,500
| 19,120,000
& 2,390,000
301 LetENZ 21,510,000 21,135,500 374,500
| 19,120,000
T 2,390,000
01 Al B&X2HZ2(2REETA) 21,510,000 21,135,500 374,500
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2A:

014
I (123 AAINH
B %

K (ABI2X /IS - 01 )

el 2015 2 A EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OFRIIE Ols2=sHl S A& 21,510,000
Jl 19,120,000
== 2,390,000
SIRRIIESRAAL ATt &g - 22X (=1) 20,026 29,240 N9,214
Il 11,780
= 8,246
308 AtXIEHMSOIE 20,026 29,240 N9,214
7l 11,780
= 8,246
01 HXSHH B EES 20,026 29,240 A9,214
OSFRIESEXAIE LA & - K=
& 20,026
Il 11,780
== 8,246
BHERIIE DY YUHFE F=AHAR(S1) 57,152 64,144 26,99
) 57,152
308 XXM SOIA 57,152 64,144 26,992
J| 57,152
01 HAHHBSEXRS 57,152 64,144 6,992
OBIRI2IIE HUYLU=E F=HIIE 57,152
Jl 57,152
SIRRIIEERIAIA O0ISEAMEIA XIR(21) 23,140 26,425 A3,285
Il 17,800
= 5,340
308 XXM SOIE 23,140 26,425 A3,285
7l 17,800
= 5,340
01 AXEH B2 LS 23,140 26,425 A3,285
OFRIIE=XAE OI0ISSAHIA XIS 23,140
Il 17,800
s 5,340
SIRRIIESIAAL Jls22 A (=1) 25,500 9,814 15,686
) 15,000
S 10,500
403 AXIEHMSA=Z0l1d 25,500 9,814 15,686
Jl 15,000
= 10,500
01 AXIEHM A= 2 £ 25,500 9.814 15,686
OstRRIIE=EX AL JISELAMY 25,500
Jl 15,000
= 10,500
SIPAE XHarg)|2 29 - X (2D)(2E) 190,050 0 190,050
= 133,035
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2A:

HdEAEIE=E

M Dl d& AW SE(MAISX/EaYE)
oell Had |4 X208 29 EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
7l 340,698
01 HASHHBSEEXS 340,698 545,920 A206,222
OBS+EAlE FAEHXITZAL BHXI 340,698
Jl 340,698
He&EAE Melgs XNF(21) 643,200 610,800 32,400
= 536,000
& 107,200
308 AtAIEHMSOIE 643,200 610,800 32,400
= 536,000
= 107,200
01 AXEHBEES 643,200 610,800 32,400
ON8E~E M8 X2 643,200
= 536,000
= 107,200
BFA THASA SaEgsEs 39 X2 20,000 20,000 0
308 AHXIEMSOIH 20,000 20,000
01 XN BSELES 20,000 20,000
OFFAl NHESAH FAHEEHE 53 X 20,000
F4HEs 2 dk 28 11,809,037 11,779,941 29,096
= 71,834
Jl 7,340,731
== 4,3%.,472
CIXIE0ICIA Tmioh HAaE X A AR BHXIAR( 76,446 74,220 2,226
20)(=E)
= 38,223
= 38,223
307 @I2to1 & 76,446 74,220 2,226
= 38,223
= 38,223
11 AMRISXAEEES 76,446 74,220 2,226
OCIXIE0ICIOf T EaE K& dgaE
Ak HHXI 76,446
= 38,223
== 38,223
CIXIE0ICIH Tmioh HAaE X HEAE AR BIXIAF( 19,111 18,555 556
21)
= 19,111
308 XHXIEMSOIH 19,111 18,555 556
= 19,111
01 AXEH B EES 19,111 18,555 556
OCIXIE0ICIOf Lo HaE K& dgaE
Ab BRI 19,111
= 19,111
BAEdESAMEH X 545,600 492,213 53,387
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HEEAEHIED

=

07 A5 HAW S8(ASSX/EAH)
el HAEES Y e 85 (Gt &2l
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2

3] 263,854
< 263,854

307 120/ A 527,708 554,93 ~27.228
5] 263,854
< 263,854

T EE S 527,708 554,93 ~27.228
CEPNELIF I 527,708
5] 263,854
< 263,854

HAGOEY A= (22) 805,310 777,918 27.3%
5] 805,310

308 XA HA S0/ 806,310 777,918 27.3%
5] 805,310

0l AN HZAEES 806,310 777,918 27.3%
CEPNELIF e 805,310
5] 805,310

BAREAAE 2908 (20)(HE) 2,435,348 2.3%8 648 106,700
5] 1,217,674
< 1,217,674

307 P10/ A 243,348 2,308 648 106,700
5] 1,217,674
< 1,217,674

10 ABIZXANEBESIH 25 2,435,348 2,328 648 106,700
OBAESTAL SAXIR 2,435,348
5] 1,217,674
< 1,217,674

HAU=IAE 202 (22) 745,022 93,406 £213.384
5] 620,853
< 124,160

308 XA SO0l 745,022 98,406 ~213.384
5] 620,853
< 124,160

0l ANESHZAEES 745,022 98,406 ~213,384
OBAHUSTAL SAXI 745,022
5] 620,853
< 124,160

HAUEH SA8AE NSNRLY(ED)(RE 64,500 38,40 26,100
5] 3,250
< 3,250

01 YetEEa 64.500 38,40 26,100
| 32,250
< 3,250

IREEEErS: EIEREES ) 64,500 38,40 26,100
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SN HEEAEIIED
HE: 0 ME HAE SH(MESX/ELA)
ool HAEES U HE

=

SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2

J| 128,587
S 128,587

307 212t01d 257,174 262,950 NbB,T76
Il 128,587
S 128,587

11 ARRIS XA E X 257,174 262,950 ADb, 776
OFAEEU202HHI0l 2 257,174
) 128,587
= 128,587

HAEL SO0 2E(22) 2,750,978 2,770,768 A19,790
Il 1,833,986
S 916,992

308 XXM SO0l 2,750,978 2,770,768 A19,790
J| 1,833,986
S 916,992

FHExS 2,750,978 2,770,768 219,790
OFAHLUSO0IHHIO 2 2,750,978
J| 1,833,986
916,992

H

31,671 25,250 6,421

[0l
e
[im
re | 4o
SIE!
S|m
x| Y
[]\.l
0
m
>
0

s 31,671 25,250 6,421

w
~| &
g N

>
ton
Ja
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HL
P

31,671 25,250 6,421
31,671

©
0
19
]
k>
[m
30
%
rig
o
oy
>
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ry
—|l=
>
{0

7,000 7,000 0
3,500
3,500

Mo

307 212t01™ 7,000 7,000 0
3,500
3,500

o

11 ARIS XA E X 7,000 7,000 0
O3AHRMNEE ZAE K& 7,000
3,500
3,500

hoH

BAEFMNEE 2AIE X (=1) 13,200 13,200 0
11,000
2,200

Mo

308 XtXIEMSO0IE 13,200 13,200 0
11,000
2,200

Mo

REPS S 13,200 13,200 0
OFAERMNEE ZAE K& 13,200

11,000
2,200
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A HEEAEIIE
Zu: D ME FAE SH(MESX/FAE)
o §AUES U A5 5 (CEREE))
SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2
st g HAad X(20)(AE) 371,905 247,802 124,103
| 260,333
= 111,572

307 212+01™ 371,905 247,802 124,103
| 260,333
= 111,572

11 Al =SXAMEES 371,905 247,802 124,103
Ost 5 #449 K& 371,905
| 260,333
& 111,572

St 2 HAd X2(=1) 988,189 974,040 14,149
| 988, 189

308 AXISHMSOIN 983,189 974,040 14,149
| 988,189

01 IXSHHBAERS 983,189 974,040 14,149
Oostn % FaE XA 983,189
| 983,189

st St FalE XA (S4A)(212)(HE) 6,578 6,578 0
| 3,289
= 3,289

307 212+01 A 6,578 6,578 0
| 3,289
= 3,289

11 Al =SXAMEES 6,578 6,578 0
Ot % HAE N (SA) 6,578
| 3,289
& 3,289

st 9 Had X2(24)(=21) 61,625 61,625 0
| 61,625

308 AXIHMSO0I& 61,625 61,625 0
| 61,625

01 AXIEHEZLAExS 61,625 61,625 0
0% g Fad X (34) 61,625
| 61,625

st 2 Had X2(MHEHGXE MEIA)(20)(HE 173,360 173,360 0

)

| 121,352
= 52,008

307 212+01 ™ 173,360 173,360 0
| 121,352
= 52,008

11 Al =SXAMEES 173,360 173,360 0
Ostl s HAE XJA(KMSHSXH AblA) 173,360
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2A:

X XH -
o=

HdEAEIE=E
o

chl: X (=R
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 2,862,325
=S 2,475,467
MHE XNE2E(21) 2,854,118 2,816,140 37,978
= 2,599,478
== 254,640
308 AXIHSOIA 2,854,118 2,816,140 37,978
= 2,599,478
< 254,640
01 MXSHHBAEEXS 2,854,118 2,816,140 37,978
OXNYusEEH 22 ]S 23 683,200
[ 683,200
OMZEEA 900,312
= 857,440
S 42,872
OMYUEH 2SS XA 1,270,606
[ 1,058,838
= 211,768
29 ZANAMELSDIMH NIE 229(=21) 525,694 493,810 31,884
= 262,847
S 262,847
308 AHXIEMSOIE 525,694 493,810 31,884
= 262,847
< 262,847
183 S| 2SO ZB XA AIE 525,694 493,810 31,884
OZ& ZAMELoIIdE X8 29 525,694
[ 262,847
= 262,847
JHHENEHS XA (2 D) 43,100 44,239 AT1,139
= 43,100
308 AHAIEHMSOIE 43,100 44,239 1,139
= 43,100
01 XN BELES 43,100 44,239 1,139
oftagIZZIH 2 43,100
= 43,100
Hgx2gs N2 1,400,700 1,368,300 32,400
201 er23| 15,000 15,000 0
01 At2t2ltl 15,000 15,000 0
ongags XNH 15,000
202 04t 1,500 1,500
01 =LHOHI 1,500 1,500
ongxags XN 1,500
308 AFXIEHMSOIE 1,384,200 1,351,800 32,400
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A HEFEAEIED
o

M og 2Rl N (ARISX/OE - old)
Rl E2ReiANg g2 & X =L (SH9 M)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
01 HXSHH B E2ES 1,384,200 1,351,800 32,400
ongags XNH 1,384,200
M SAX ML 94,500 97,440 22,940
308 AHXIEHMSOIE 94,500 97,440 2,940
01 AXHHBaELS 83,460 83,640 A180
OMHH SAIL HLHL KA 83,460
183 S 2S0UetE 4R A AL S 11,040 13,800 A2,760
OMZEH SAIL HSHL KA 11,040
e dXelAteg =& 4,800 6,400 A 1,600
201 L2 1,800 2,400 AB600
01 AtR2telb] 1,800 2,400 2600
Od LXelAed =& 1,800
202 0| 3,000 4,000 A1,000
01 2L AL 3,000 4,000 A1,000
OO0 2XelAg =& 3,000
e EIHEHH 23 354,980 342,932 12,048
308 AXIHMSOIA 354,980 342,932 12,048
01 X SHHBAEXS 354,980 342,932 12,048
ONdQI2Edy 2 354,980
KNESs Hdd201d 2 74,000 74,000
308 XXM SOOI 74,000 74,000
18 SISO 4 A AS A 74,000 74,000
OXNSSe HgdE0e &y 74,000
oy F - EY 320 2Hus N 29,000 10,000 19,000
308 AXIHMSOIA 29,000 10,000 19,000
01 MRHHBSEES 29,000 10,000 19,000
o088 #82J1s ¥ MHlA FZ23 W= 19,000
OblelAE & MUY 2018 2y 10,000
HY2SAHI(HEEAEIHE) (OIEH/DIE 39,003 38,739 264
=&l 39,003 38,739 264
FA2E J|=2H| 39,003 38,739 264
201 L2 26,903 27,357 A4B4
01 AFR2t2ltl 26,903 27,357 N4B4
ORAN2E AtR2t2/] 26,903
202 04l 7,900 7,182 718
01 =LHO LI 7,900 7,182 718
2A24d =20 7,900
203 SR =L 4,200 4,200
M FA2SLRFAI 4,200 4,200
©2521 0lat 350,000 123 4,200
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